(A41) ATPLE X #ifT%

KL EHAHR - 109/12/22 ~ 109/12/22 ¢+ EHAE35% -
0013469, 0013523, 0013531, 0013536, 0013537

B 4bRE%%:0013454 a0 5 E: 5
(c) LABARITE L, FEAMEEFGLLEARGY , ATEAFEER
(M#EH s BARRATHRAIEHR (B) B A%k (C)D #aZE K
JB A% 0013455 M40 H 5 & B

(¢ ) 2 RAkkgpFHE 6000 =R , HEBRE B 6F 9.5 ody , Hik 135 &
ATEEEES 490 BE , FERBMESLD ?
(M27 s (B)30 Audy (C)35 fudr

£
e

B 4bRE%%:0013456 #E4:0 #5E: 5

(B ) 3.XEE 315 @m(radial), ‘aES , RITE EHE320MH(radial), 28 5 & ,
EREF R THBFEEAMGE , RATELEBMRIETH(CDDEZ PR &5 A
12542 , APUAEEHR , FH2EEL25ME 2
(MD10 248 (B)12 o4& (C)24 »4&

B 478520013457 a0 5 E: 5

(c) 4 EZ#1158 , ADFAAH T E090E S A095E F1.054 , 32 dE42Eak
B 2
(M12.5 82 (B)24.5 # 2 (C)34.5 82

R a6 A85%:0013458 =84:0 5 H: 5

(A) 5.8  RERFGQZESH MY 10, FoE%E: T.Onég , &
Zig ;858 , HBER 9.6 ww /I, RBIHBETEXAETXGR , EEE
fo HESH

(A)30 m4z ; 42.5 2 ; 4.80 imws (B)32 44% ; 48 2 ; 5.58 huw ()48 o4& ;
48 2 ; 4.58 joww

B 4bRE%%:0013459 a0 5 E: 5

(c ) 6 ADF FESAEHUNDBE 3% , R~ s¥ Hfr(relative bearing) d085 & 4 %090
EE2ns , s sximsa ?
(M)15 548 (B)I8 o4& (C)24 »4%

B4R %%:0013460 #E4:0 5 E: 5

(A ) 7.8% @  HEfsg @ 1060 B , EH®m 08 E , EAE%T#k :9HH ,
R8T &, RKREGEER A ?
(A)020E #=328 (B)030&Z #2388 (C)200 & =32

JR4672%%:0013461 Aa4:0 5 E: 5



(B ) 8 MAKBEEGIFZ G T #IGERSHE 1500 R,
9500 3R , fesZ 500 =R / msE T3 A ZR160 &
s 140 B, TRk 080 &2 / 15 & #£ #£50 E
B E -3 B, FHiuF 14 ed /N Kresop B2 ogr

BEme ( Be ), FEE, #4

WhL

(MDldnsg , 128 B, 35 %BE |, 3.2 mw (B)lexnde , 132 &, 41 BZE

3.7 Jusy (C)16%4% , 128 &, 32 BE , 3.8 i@

R4 785%:0013462 Aa4:4 .5 %5 (R20130125)

(A 9.C HF%#Fig8) FHRABTAEEAMEANBER , A TRBRERFEREES

Blse @R (ILS critical area)z b , AAF—EFHRZAT 2w BA4]l_Figd)
(MDFFEemsk B Lyaoessk (OFMFask

[Ce ] e/ ] el [LERERTE
SR ERESTE T PR
FIGURE 51.—Airport Signs.

F6R85%:0013463 Aa4:5 # 5 E: 5 (R20130125)

(A 10.C 3H5ATFigl8 AR — 5t di by b Rk M A 3638 7% A & H B 5t (4o B A41_Fig8)
MDEFaaeidik BOFRFeasR (OFTrwedi



A4 B H :

[ Lazem. ) o] AR e 5]
(5=t =S IR o FaZEimns
FIGURE 51.—Airport Signs.

B 4bRE%%:0013464 a0 5 E: 5
(B ) 1. AEBARITHRA FHLVORE , 278
(MDVEE At | T A A AR ERE (B IRdr &gkt VORE 4 7 &
Foey et (C)FErr AReeyVORME ) P, %:@:BVOREF , A K @B , BAR —B&EKR
77 6y Re) SRk A 18 18 Y 2 R

B 4bRE%%:0013460 Aa4m:0 5 E: P

(C) REFEFBEFLETRFRYE , RE-—RBBRMEFEMHBCIAF) L2, HIE
AREGERALE , ARREZERHEL
(D180 # Fwz#k. (B)200 & EZE®R. (0200 # F+wZER.

B 4bRE%%:0013466 Aa4m:0 5 E:

(B ) 13 EAEMBLUSRATE |, NEXHLEWGWE , SARFRMERYEEDE 52000)
ERLE , EREAI000R | SRR SE L& H
(MDEBEEEZHEC WA ) B s s EsemiastsE ( 0RCA ) (ORBKEZ2 / B
&3k & E( MSA )

B 4bRE%%:0013467 Aa:0 5 E: P

(C) WH—HEMAAEBESHAZAL (INS) ? A AEREAE T
BB

(MDEBRFBBEHR , Tk, SR LB (BAZTRNRANEMEEZR
B, wRESAAERERAA (CF B EECR I EmBIAZHE) I FEEEK
Fo fuik 35 R AR HIE

JR 46 72%%:0013468 =a40:0 $ 5 H: F

(A ) 15 B E , DMEdS = %prfa~8E VORTACHYIE#Efish | L B IS # € A &R AW
= 9
(A) & & & T4 VORTAC (B) &% & F 431 VORTAC (C) &3 & F & #VORTAC

JR 46 785%:0013469 Aa4:0 5 &+ (R20180823)



(B ) 16. % BE#EAVORTACZ L7712, 000R 85 » 4T B e A ADME&Y 45~ & 2
(A)0 DME (B)2 DME (C)2.3 DME

R4 785%:0013470 Ag#a:1 5 E:+ (R20130125)

(B ) 11.C#F%#TFig) ) AR —ERMI B35 & Rk imt @230 E AT ST ( R050E208 )(do
BA4l_Fig9)
(M2 (B)3 (C)4

Fiot ke 125 —RMI [llustrations

R4 785%:0013471 Aa#:2 5 E:+  (R20130125)

(B ) 18.(C 3¥F4#Fig) ) JwdsEBrAT , EET L0 H &AM 2(wBA4l_Fig))
(A)285 . (B)055 . (0)235 k.

ABHE :

Fit ki 125, —RMI [llustrations

R4 785%:0013472 Aa4:3 5 E:+  (R20130125)



(A 19.C F5ATFig) ) #A—ERM B REEEGHBEY, EREOEL2(WE
A41_Fig9)
(M1 (B2 (O3

A4 B H :

Fit ki 125, —RMI [llustrations

FA6RE5%:0013473 w4 # 5+ (R20130125)
(B ) 20.( 35%#Figd ) AA—ERMI B ¥5 & Ak E S 69050 & 1e@ (radial), EAHEEE?(d0
BA4l_Fig9)
(M1 B2 (O3

Fit ki 125, —RMI [llustrations

R4 785%:0013474 Raz:1 5 E:+  (R20130125)
(A 21.C F5ATFigl0 ) £No. 1 NAVAT:E#eytarm (radial) £, REALERET 0%
¥ ?(w@EA4L_Figl0)
(A)5.0 NM (B)7.5 NM (C)10.0 NM



A2 B [

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

Fictre 139.—No. | and No. 2 NAV Presentation

FRA6RE5%:0013475 w2 # 5+ (R20130125)

(¢ ) 22.(C 3F%#Figl0 ) No.1 NAVHE &~ RMAA — B & (radial) ?(keBA41_Figl0)
(DR-175. (B)R-165. (C)R-345.

A2 B @ :

FREQ | N.M. |KNOTS | MIN
115.0 (60.0 | 180 |[20.0

Fiure 139.—No. | and No. 2 NAV Presentation
R 46R85%:0013476 Ra4m:3 5 & F  (R20130125)
(B ) 23.(3%#Figl0) No. I NAV + A8 —E0BS:Z 42 T4 CDI 5= P 4 B , oz %710 / FROM
=5 2 T0 ?(kwEA41_Figl0)
(A)175 (B)165 (C)345



A2 B [

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

Fioure 139.—No. | and No. 2 NAV Presentation
467850013477 Rgm:4 5 F  (R20130125)
(c ) 24.(3F%#Figl0 ) #£No.2 NAVAriEE ey tgm (radial) £, REALERET D E 2(
BA41_Figl0)
M1 B B2 £ (O4 &

A2 B [

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

NAV

NAV - 2

Fioure 139.—No. | and No. 2 NAV Presentation
FRu6A855:0013478 =845 g5 &+ (R20130125)
(A ) 25.C 3F4#TFigl0 ) £&No.2 NAV + 7 —{E0BSEZET#CDIF @ P E ?2(WwkE
A41_Figl0)
(A)174 (B)166 (C)335



A2 B [

FREQ

MIN

115.0

20.0

Figure 139.—No

| and No. 2 NAV Presentation

FRA6RE5%:0013479 Aa4:6 5K+ (R20130125)
(¢ ) 26 (3F5%#Figl0) ££No. 2 NAV + AR —fEOBS:ZE# T #CDISF = & 4 & , Fo2r8TO / FROM
%2 TO ?(eEA41_Figl0)
(A)166 (B)346 (C)354

A2 B [

FREQ

N.M

KNOTS

MIN

115.0

60.0

180

20.0

NAV

NAV - 2

Figure 139.—No

| and No. 2 NAV Presentation

R4 785%:0013480 Aa4a:1 5 &+ (R20130125)
(A ) 21. (H4FFigl2 ) Rk alHeeyds-~ « "..HOLD EAST OF THE ABC VORTAC ON THE ZERO

NINER ZERO RADIAL, LEFT TURNS:--"

BA41_Figl2)

FR— A2 AR A ENTF TGN L 24w

(MRAFITEANE BRAFEEEANE (ORAFRIBEANK



A4 B H :

1;\\\‘\
i\

-
-
-

-—

—y
(5]

"II

Fiovre 123 —Aircralt Course and DME
Indicator.

R4 785%:0013481 Aa#:2 5 E:+ (R20130125)

(B ) 28 ( 3F£FFigl2 ) HEB W EAE 945~ : "...CLEARED TO THE ABC VORTAC. HOLD SOUTH
ON THE ONE EIGHT ZERO RADIAL.." #F —FE#2/F RALE R A EALF MG T ik ?2(%o
BA4l_Figl2)

(MRARENZX BRFALEENZ (ORFPFTENE

A4 B H :

1;\\\‘\
i\

-
-
-

-—

—y
(5]

"II

Fiovre 123 —Aircralt Course and DME
Indicator.

B ksRa%5:0013482 2843 g5 &+ (R20130125)

(c ) 29.(3#%#Figl2) kB HE 945~ : "...CLEARED TO THE XYZ VORTAC.  HOLD NORTH
ON THE THREE SIX ZERO RADIAL, LEFT TURNS..." #FR—#8#2 5 Liki2 A LS
sy FiE ?2(wEAl Figl2)

(MRAFITEANE BRAFEEEANE (ORAFRIBEANK



A2 B [

Fiovre 123 —Aircralt Course and DME

Indicator.
B4 R8%%:0013483 R4 # 5 E:F (R20130125)
(B ) 30.( FH£#Figl2) Rl fEeydst : "---CLEARED TO THE ABC VORTAC.
. R RERF AR A EANFPHRLEY T E P

ON THE TWO SEVEN ZERO RADIAL..."
BA4l Figl2)
(MRAFITEANE BRAFEBEEAE (ORAFRIBEANAK

HOLD WEST

A2 B [

1;\\\‘\
|

RN

/l""Sl

Aiarcralt Course and DME

Fioure 123

Indicator.
(R20130125)
"...CLEARED TO THE ABC VORTAC.

HOLD

FRutA85%:0013484 =841 5 HE:
AR — AR AR B NS AR )

(¢ ) sL(FZAFigld ) RATAHUBIAE 935
WEST ON THE TWO SEVEN ZERO RADIAL...."

* ?2(4wBA41_Figl3d)
(D FfrhonrsENE B)AFFTENE (ORFAEBEENE

10



A4 B H :

Fioure 124 Aircrall Course and DME
Indicator

JR 46 785%:0013485 Aa#:2 5 &+ (R20130125)

(c) 32.(3#%#Figld) MRiTRBFEW B AT 4945~ + "---CLEARED TO THE XYZ VORTAC.  HOLD
NORTH ON THE THREE SIX ZERO RADIAL, LEFT TURNS---"  #AR—4E42 5 R4 E R A EAN

Hh ey ik 2(kBA4L Figld)
MR AFREENE BRAEFITEAE (OHEBENE

A4 B H :

Fioure 124 Aircrall Course and DME
Indicator

JR 46 78%5%:0013486 Aa#:3 5 &+ (R20130125)

(A ) 33 (F%#TFigld) MRiTREFEW B AT 4945~ ¢+ "---CLEARED TO THE ABC VORTAC.  HOLD
SOUTH ON THE ONE EIGHT ZERO RADIAL---" AfR —#&#2 5 RAKIE R A EANFTHEE T
% ?(kwEA4L_Figld)
(MRARBENZ BRAFFFENZ (ORFEZENL

11



A4 B H :

Fioure 124 Aircrall Course and DME
Indicator

B 4bRE%%:0013487 A0 5 E: P
(A ) 34 EfeAsg(holding) F 8R4k 4% Ak ik Kk B R4 =2
(A)265 #r. (B)230 #. (C)156 #p.
4 A3 0013488 R84m0 # 5 A b

(Cc) 5. ERMAEHF LAy LR T000R 2 14000R 2 HE T , KAEH BT ERME
R RAF ik R &
(A)200 #. (B)265 #p. (C)230 #p.

B 4bRE%%:0013489 A0 5 E:

(A ) S6.PRIFAEALARERNFEATEELLARRE , MMELFR e, FAAEARAKSGL
2 15000R=-F38Tam Y , RAESBHI]ERERAF9RE(Maxinum
holding speed) 4|2 ?

(A)265 &i. (B)230 #n. (C)250 #p.

B 4bRE%%:0013490 Aa4m:0 5 E:

(c) STLERARBARMAE LA MG EE 14000RF4 , EERERAGFFTRE
(holding speed)& ?
(A)250 #7. (B)260 . (C)230 &p.

B 4bRE%%:001349]1 A0 5 E: F

(A ) 8. EHERARITH QT 44N , £ (holding pattern) ¥ # % | AT B IR
AR — ARk & % & A 44 (bank angle) ?
(D3EER R 20E ALMHE4AAH , mE T2 . B3IE B % 0E £41R
#a, wmErzebFE (O-1/2E &% R 20 2464E#84A , mEX P&
*.

JR 46 72%%:0013492 #540:0 $ 5 H . F

(B ) 39. 414000k x4 ki A5 444k (holding pattern)s¥ , % —R& IMuse R EAZ D
(D1 48, (B)1-1/2 7548, (O)1-1/2 »n48 % 10 BE , WEFPIH|F.

B 4bRE%%:0013493 A0 55+
12



(c ) 40. ZAENDBLEAAGE | ffTR 4 =R Rdkfifk(second leg outbound)eystef ?
MEABARKB BRERETAREGZEEMOEKE TR, ELE4LALE
BB %, REEREERAT | HPROBEH (O FF5ERMN N D

R4 785%:0013494 Aaza:1 5 &+ (R20130125)

(A ) 41, ( 3F42#Figld )fCougar FouriZ 4K % 2354 20 AR ?2(4w BA41_Figld)
(A)AEBANTY INT (B)A£ TAH VORTAC (C) & #& ¥ =T & % 0%

A4 B H :

ur Arrival (Cugar.Cugard)

i 785%:0013495 Aa4:2 5 &+ (R20130125)

(¢ ) 42.( 5%#Figld) HswRfCougar Four 235 , R#kEaZE [AH & 305%&% (radial)
BREFEE , RITESZWwMRE ?(GwEA4L_Figld)
(M)A A ZIAH VORTAC , R4 G TAH R-125 8 sutsAz 4 4% 14 355 (B)#BANTY INT 2%
IAH R-290 Rz &Ainigsp g , AR&SIAL 10 B E0E , EHxzkey (OAR
ZJAH VORTAC , & IAH 10 B EREEE— KL aE , BHERKEY

A4 B H °

ur Arrival (Cugar.Cugard)

JR 46 78%5%:0013496 Aa#:3 5 E:+ (R20130125)

(c) 4. FLATFigld ) ARAIN 10 HZRE L, BBLRE , RAAHNKERRIOE
g, AHHEFALIOCEEZNE L , HaiEstEiE e (wEA4l_Figld)
(MDiEr 2K ER%R G ELZMKE RmExE (O£ AR E Rm2EZ AT

13



A4 B H :

R AEFATE 0013497 nééﬂ 0 §E§1 ‘F’
(c ) 44 ILSRUEEATHESAE ?
(MDx4x , sedeREHEA B)Ha , BAEAA (OF3] , LBARBAMNE
B4R 0013498 ARd:0 ¥ 5 & ¥

(B ) 45.ILS &y £ 4 244 (localizer) - 4t B ay3A R GE AT ?
(A)108.10 to 118.1 0 MHz. (B)108.1 0 to 111.95 MHz. (C)108. 1 0 to 117.95 MHz.

B4 RE%5%:0013499 #2400 5 E:
(c ) 46 ILS‘JI’%F—*ﬁM'n\é # &4 4 (localizer) 3k p) #8 2 Ay 28 R 3% %] 2
DREREEs BFBEHEMEs (OSBEHEMSE
B4 R8%%:0013500 #a4:0 $£ 5 E: P

(A ) 41 BRAREMFE , £RABILSR&1E4% & (back course marker) B g &L 2T/ 52 % & B
e~ 7
Dz smafastraezhgsk GORrEgEH KT RaEELEEE (O—2&m
KkE@ab ARz eR

B 4b7E%%:0013501 Aa4m:0 5 E: F
(A ) 48 #@BILSM1E4Z 4 (inner marker)Z 358 & B #L45~ AT ?
(A)&%/:%Q“B%a% B)EPH24g2kE OBYPRMRERAETIH
B Aaa: 0013502 Mda:1 # 5 &+ (R20130125)

(B ) 49.( 3F2#Figlb&130k %138 ) £1.9%82 K, HA LTS (localizer) 8y UART
738 (glideslope) &9 #% 1T 7 (4w BA41_Figlh)
MEaERME PEERTIORATHREZTIOR B ALEEME POgEARTIOR
ARTHREZEIAOR (OAEZMAE PosgARAI30RATF FEZ E28R

14



A4 B H :

Ficure 135.—OBS, ILS, and GS Fioure 136.—OBS, ILS, and GS FiUre 137.—OBS, ILS, and GS
Displacement.

Displacement. Displacement

-

2DOTS = 140°
1DOT =70

2D0TS = 28 L]
1DOT =14 L

GLIDE SLOPE
Va (1300%) 4
1008 [FF 019 oy (5.5 NM)
100°ALT T500"ALT. 1500 ALT.
DOTS = T10"
DOT = 358"
2DOTS = 430° Al I o
1D0OT = 2‘5'\ \ 100T = 778" —
LOCALIZER .
- = Dot

Ficure 138.—Glide Slope and Localizer [lustration.

46 785%:0013503 Aaa:1 5 &+ (R20130125)

(c ) 50.( F%#Figlb%k136 & %138) sE#:E1300R K& H A& 244 (localizer) 89a AR T
/i (glideslope) #9184 AT ?(4w B A41_Figlh)
(MFHEZTF2UREBEFHEAERA320R (B)FHEZ 28R R HE T 44
#250R (O)TFiFiax E21R R enid ¥ o4 £ R #£4320°R

A4 B H °

Ficure 135.—0BS, ILS, and GS Ficure 136.—O0BS, ILS, and GS

Ficure 137.—OBS, ILS, and GS
Displacement. Displacement.

Displacement

2DOTS = 28' e
1DOT =14 o
GLIDE SLOPE >
(1300°)

P (1.8 NM)
1000 |+

100° ALT 500" ALT. 1500 ALT

DOTS =710

DOT = 35§
2D0TS = 1550° —f
EDDTS-()U' 9
1DOT = 2;5'\ \ 1D0T = 778 —3
o DOT o
. -

LOCALIZER

Ficure 138.—Glide Slope and Localizer [lustration.

JRutA85%:0013504 =848:0 $£ 5 H: F
(B ) sLATEfERAE~( DI DTRAKR KRGS ?

(A):—"»CDI*E é‘l- fﬁﬂii’fﬁ]fziﬂif’fﬁ 'k)i—iﬂ‘ﬁ}\ (B):—"'CDI*E é‘l_/u EP Fﬁﬁfrﬁﬁgéﬂi Ei%t
I (C) 4 CDLAR Shit B2 ol — £ R 45 5 55 1l — £ & KR 2 75 A%

15



R4 789%:0013500 RE4:0 £ 5 2 P
(B ) 52. &% —JAILSHGE B RBTRAR KB F1E4Z 4 (niddle marker) ?
(A).ASREPAR (B) #1z4& ﬁfﬁ??iﬁiﬁiﬁk%%— (C)BHExims , PAR & ASR
JB A% 0013506 240 35 A

(A ) 53 FILSE s 35 (simul taneous ILS approaches)#hATes |, J&Bp 852 4o it 35 % %] T 547
BiER 7
(A) fets EAEfT ka3 s (B A ZMILSE iy (OFE B IE RS &

%

B 4bRE%5%:0013507 #2400 5 E: P
(C ) b4 FHTERATAG AR EEE |, RATE BRAFTR LT 2
(DA eDH (B) A A egMDA IR 435 (C)AMEIRIE A PR BHUT
B 4b7E%%:0013508 Aa4m:0 5 E:
(B ) 55 % H45 B RGE A TATHREAF TIT M 90 F 81E (sidestep maneuver)BF
AT B AT BF AT 2
(D AR BEES RIS ER B AREXRWERERINBZERIT O£LAE
AL EMDAR & & 2| 8638 B

B R85 0013509 A0 # 5 & P

(B ) 56 % =#8( Category II) ILSE/I&KAZE AfT ?
(A)DH 50 " % RVR 1,200 ==. (B)DH 1 00 "= & RVR 1,200 »=. (C)DH 150 =R % RVR
1,500 K.

B4 #5%:0013510 4.0 5 E:

(¢ ) 57. % =A%8( Category IIIA) ILSHEZAKAZE BfT ?
(A)DH 50 "R &RVR 1,200 =R. (B)RVR 1,000 ==. (C)RVR 700 =R.

B46785%:0013511 R84m0 5 P
(c) 8. TAaAkRME( localizer), Fi#i&( glideslope) , 124 & (marker beacons) , i#
s RHIRL 4 , #hE = *EILS% IS TR ERESEODH) P W150R( #tdm )
BE R &AM E R
(ARCLS & REIL. (B)&:% & RVR. (C)TDZL, RCLS, ARVR.

B AE3E:0013512 M0 # 5 &P

(Cc) 59. WP s 7 A4 s (localizer) , FiFiE(glideslope) , 1542 & (marker
beacon) & 3G s, AR H A d ikt A ol Bah 0
(A) &= ARVR (B)RCLSAREIL (C)HIRL, TDZL , RCLSARVR

B 4bRE%%:0013013 Aa4m:0 5 E:
(A ) 60, £ RATH 3] £ AR EGPSRAUATHARL &
(M) ARNAVELHs (B)A 2 &t Bdess (C)AFMS/EFISHELH#
JB A% 0013514 M40 $E 5 A

(¢ ) 6L %erUKACHUKAI ( GPS RWY 25 ) ARIZONA % , RAFARE S My , Sy
LIBBRABITIRBEEIGES , AREACIEENH EABEERER , RTRERREK
Wﬁ%zﬁ?
(A)GPS=,VOR (B)ILS=.GPS (C)GPS&Loran C

16



B 4bRE%%:0013010 A0 5 E:
(A ) 62 fE#ATGPSEHGE | UK A $1:2 IR F 8% (automatical ly selected sensitivity) &%
Jo
(ADBHEIFGK BET (B) /B EEGIFREHEE , RBFETEGEEF (Ofi

FRA TR E

B4 R8%95:0013516 =E4m:0 £ 5 E: P
(C ) 63 1R 5B RAMMA] T A AEIEFTCPSIRAE LB
(M pi A 584 A TS0 C-115A 4321357 (B)RTALAFRRA , REFMHAFRE
BB EE (O % % XRAIMAE A ey 2 A+
B 4bRE%%:0013017 A0 5 E: F
(B ) 64 F£EBIEI , GPSIR B EIGIRFLIB BRI 7
(A) daPANZE T 44 ek AeAT - S AAT F 8 o #t (B) ol 4 B R R Bn (O
ST HFAAE B
B4 A8%95:0013518 RE4:0 £ 5 E: P
(c ) 65 FXxECPSHGIHFLEHEU B A ETEMER ( RAIM )kseyE, RITELIE
(DBERERREHBLEH AL EHBURIE IR B REFTHRA LS T
R EFEEERERIEEANE (OBF7F —AHE5ER 7 — B EHBE
B4 A8%95:0013519 RE4:0 £ 5 E: P
(B ) 66 FEGPS3® % #3355 (Missed approach) , #4T B o JBEREAT E0 45 B0 B 377
(A):@:BMAWPEF (B) EMAWP= 42 (C)AAEMAWP AT
B4 R8%95:0013520 =E4m:0 £ 5 E: P
(C ) 67 3T A 89GPSHES |
(MDEMEeREABENAELREGRZEF B mERAINE 2 693% , RITEARS
TR FEHNN (COCPSHEI B L BAR T RE EMBIBFBIE T FHE
B4 R8%9%:0013521 =E4:0 £ 5 E: 5
(c ) 68.#ADFs2 ZNDBE &, A A B 2T0Z 3% £ 260 F 852, 542, 3| E & FEuF % & °?
(MD)9n4s. (B)1844&. (C)304-4%.
B4R 0013522 A0 ¥ 5K 5
(B ) 69. o RAFIFZE R F Y M—E360ZMBEE S XM
(D14, B)2a4g. (C)3n4s.
F46AE35:0013523 AE4:0 # 4 %: 5  (R20180823)
(A ) 70, 51355 69k 2 B i ér 1A, ADF e 45 414 T 48 M B 315K 0 2270, M2 E 4 %
W% V088 % RT
(ADTn4a821672 - (B)14545822872 - (C)194-45 413872 -
B4 R8%9%:0013524 a0 £ 5 E: 5
(A ) TLHETFERERAREILEE BT?
(MD#FEKRIOE#29. 928k k4. (B)#KOHIE #1229, 92/2 >k Fk4x. (C)#FEIK1DE 229, 92
B,

JRutA85%:0013525 840 5 : 5
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(A ) 72 MR ERBEFATEAADFESG B4R, T4 ARYBIZES
MEESERTHISNA R, O RAEAANEERARBEES, £REFLTHE
z2ErEm (OR2E6 AFEHABHRTFHTrREZTMA.

F6R85%:0013526 Aa4m:2 5 &5 (R20130125)

(A ) 1 (FHMFiglT. )RIFERE K2, 4o R RAAARIF A AL, I — B 5 R A EAHG? R (4o B
A41_FiglD)
(D45 E A FA180maa REEE &. (B)A4DE AmA225E @&, (C) 455 A #8360
FEae.

FIGURE 17.—Horizontal Si jon Indicator (HSI).

JR 46 785%:0013527 Aa4:3 5 E: 5 (R20130125)

(B ) 74 (%BFiglT)r— BB & T RARRIFRA @, LTHE AHEE06000 REE S 2%
A41 FiglT)
(M4 (B)5 (C)6

COURSE SELECTOR WINDOW
" Salectad coursa is read
in this wi

FIGURE 17.—Horizon

JR 46 785%:0013528 Aa#:4 5 %5 (R20130125)
_‘I—-

(A ) 75 (ZBAFigl )7 — B & 8w Rtk & £ 9150 Z 4% 4 A LA60 B A 4 36018 % 2 (4o 8]
A41_FiglT7)
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CRERE
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indicates magnetic heading
rari

COURSE SELECTOR WINDOW

Nl Selected coursa is read
| in thi

in this window.

IGURE 17.—H:

F6R85%:0013529 Aa4:5 5 E: 5 (R20130125)
(¢ ) 76 (ZHMFiglT. MRIFE &4, 4o R RMIRITIRA L@, T — 84 R & EFE Q7R (o B
A41_FiglD)
(A AI5 K A FAu060t&E. (B)oa30% A w240 & e, (C)RRToE A ##180 & tar.

A4 B H :

FIGURE 17.—Horizon

JR4678%5%:0013530 Aa4:0 5 K : 5

(B ) 7. % RARAFIFVORZ 35 T & BEEF, RAT B B 4o AT HVOREEM B 2 A0 E?
(A)#%0BS#%2 2180 +-4E R, CDIE A=W+, B8EME S, (B)#H0BSHAZE 5 e, (DI
FEFNFoHRABBALLIEGNEME . (O)MF Rk A% VORI 0BSH %0004, CDI
ARt F oo, A FRBIE, A0 ES.

JR4678%5%:0013531 Aa#:0 65 %5 (R20180823)

(A ) T8 MMARFREAD2TOE, A2k 51208 » F:BVOR236018 % 21237, 1835018 & 1244 ;
2|E 4 2 B5F, IEEE A ATY
(MA4244%, 8452 - (B)4244%, 9152 - (C)444-4%, 9672 -

R utA85%:0013532 840 5 : 5
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(A ) 79 EEHREBR S, &R BERE
(MR & F &S, Eibg et (B et e rensg. (Oem RA%A
FL B A

R a6 A85%:0013533 240 .5 H: 5

(C ) 80 stE S AREB LI TR, REAHRAFE LA E RV L AR
MDAZAETRE  BEHETRAELZRSY. BREATBYAE Y TREATE
YzapF (OFTFTASFAERY R @Y TRET RS R WAL,

JFrit785%:0013534 Ra4:1 # 5% : 5 (R20130125)

(A ) 8L (ZBIFig2d)ho Rpfr B22 My BIAT & RATH R A1554, REEEFER S DR
BA4l_Fig24)
(MD15448. (B)30448. (C)60442.

090°

o
+.

.ts /‘\‘—\‘l_’\

105°

B 4b78%%:0013530 AE4:0 #5E: 5
CA ) 82, —FEH L& 1% s VOREE L 35 R ) Ry JE?
(D) ReATE @ BLOBSAriEE ey Frsa K. (B)3x R OBSHL etk pr £ F 902 . (C) %
M4BT E%, BSARDEESALERET S A 4 5435,
B hs7a%:0013536 a4:0 5 HE: 5 (R20201222)
(B) 8B BRAZE =12,000 R ~BE = X +50 2> KBE S E AM?
(AM)11,900 = - (B)14,130 == - (C)18, 150 =R -
A% 0013537 A4:0 %5 & 5  (R20160719)
(A ) s 2MaEE 2l tHam A0S, Brifih 43558, WE Aol € & skt & 177
(AM)040E. (B)06bE. (C)220f%.
J 4850013538 A84:0 %5 5
(B ) 85 & ReMAREE REAL 4 265 1 0%, ADP A48 % ) 4 065 52, F 7 At 48 387
(MDO6bE#EmEm REEES. (BIS0E#mEmkiEE S, (CO)330E#mEm RESE 5.
J 450013539 Aa4:0 %5 R

(Cc ) 86 4ADF# @ & &, Frafie 040, 18 ta@ 2290, R & & 2 bam A7
(D150, (B)285. (C)330E.
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(A41) ATPLE X #ifT%

KL EHAHR - 109/12/22 ~ 109/12/22 ¢+ EHAE35% -
0013469, 0013523, 0013531, 0013536, 0013537

B 4bRE%%:0013454 a0 5 E: 5

(¢ ) 1.Whenadashed blue circle surrounds an airport on a sectional aeronautical chart,
1t will depict the boundary of
(A)Special VFR airspace (B)Class B airspace (C)Class D airspace

JR 4t A85%:0013455 =84a:0 .5 H: 5

(c ) 2 Ifanairplane is consuming 9.5 gallons of fuel per hour at a cruising altitude
of 6,000 feet and the groundspeed is 135 knots, how much fuel is required to
travel 490 NM?

(A)27 gallons. (B)30 gallons. (C)35 gallons.

R a6 A85%:0013456 =84a:0 $£5 H: 5

(B ) 3. Inbound on the 315 radial, a pilot selects the 320 radial, turns 5 degree to
the left, and notes the time. While maintaining a constant heading, the pilot
notes the time for the CDI to center is 12 minutes. The ETE to the station is
(A)10 minutes (B)12 minutes (C)24 minutes.

B 4bRE%%:0013457 a0 #5E: 5

(¢ ) 4. WithaTAS of 115 knots, the relative bearing on an ADF changes from 090 degree
to 095 degree in 1. b minutes of elapsed time. The distance to the station would
be
(A)12.5 NM. (B)24.5 NM. (C)34.5 NM.

R a6 A85%:0013458 =84:0 5 H: 5

(A ) 5 GIVEN: Wingtip bearing change : 15 degree , Elapsed time between bearing
change : 7.5 min , True airspeed : 85 kts , Rate of fuel
consumption : 9.6 gal/hr The time, distance, and fuel

required to fly to the station is
(A)30 minutes; 42.5 miles; 4. 80 gallons. (B)32 minutes; 48 miles; 5.58 gallons.
(C)48 minutes; 48 miles; 4.58 gallons.

B 4bRE%%:0013459 a0 5 E: 5

(c ) 6. The ADF is tuned to a non-directional radio beacon and the relative bearing
change from 0850 to 0900 in 2 minutes of elapsed time. The time en route to the
station would be
(A)15 minutes. (B)18 minutes. (C)24 minutes.

R it A85%:0013460 =84a:0 5 H: 5

(A ) 7. GIVEN: True course : 105 degree , True heading : 085 degree , True
airspeed : 95 kts , Groundspeed : 87 kts. Determine the wind direction and
speed.

(A)020 degree and 32 knots. (B)030 degree and 38 knots. (C)200 degree and 32
knots.



B45R2%2:0013461 #24m:0 5 E: 5

(B)

8.An airplane departs an airport under the following conditions: Airport elevation

1,500 ft , Cruise altitude 9,500 ft , Rate of climb 500 ft/min ,
Average true airspeed 160 kts , True course 145 degree ,  Average wind
velocity 080 at 15 kts, Variation bH0E , Deviation -3 degree , Average
fuel consumption 14 gal/hr . Determine the approximate time, compass
heading, distance, and fuel consumed during the climb.

(A)14 minutes, 128 degree , 35 NM, 3.2 gallons. (B)16 minutes, 132 degree , 41
NM, 3.7 gallons. (C)16 minutes, 128 degree , 32 NM, 3.8 gallons.

R4 785%:0013462 Aa4:4 .5 %5 (R20130125)

)

9. (Refer to figure 8.) When taxiing up to an active runway, you are likely to

be clear of the ILS critical area when short of which symbol?(4w B A41_Fig8)
(A)Bottom yellow. (B)Top red. (C)Middle yellow.

FIGURE 51.—Airport Signs.

F6R85%:0013463 Aa4:5 # 5 E: 5 (R20130125)

)

10. (Refer to figure 8.) Which symbol does not directly address runway incursion

with other aircraft?(4wEA41_Fig8)
(AM)Top red. (B)Middle yellow. (C)Bottom yellow.



A4 B H :

FIGURE 51.—Airport Signs.

B 4bRE%%:0013464 a0 5 E: 5
(B ) 11. When in the vicinity of a VOR which 1s being used for navigation on VFR flight,
1t 1s important to
(A)make 900 left and right turns to scan for other traffic. (B)exercise sustained
vigilance to avoid aircraft that may be converging on the VOR from other
directions. (C)pass the VOR on the right side of the radial to allow room for
aircraft flying in the opposite direction on the same radial.

B4 R8%% 0013465 R0 £ 5 E P
(¢ ) 12. When the approach procedure involves a procedure turn the maximum speed that
should be observed from first overheading the course reversal IAF through the

procedure turn 1s
(A)180 knots IAS. (B)200 knots TAS. (C)200 knots IAS.

B4 R8%5%:0013466 #E4:0 5 E P
(B ) 13.An off-route altitude which provides obstruction clearance of 1,000 feet in
nonmountainous terrain areas and 2,000 feet in designated mountainous areas

within the United States is called
(A)Minimum Vectoring Altitude (MVA). (B)OROCA. (C)Minimum Safe/Sector Altitude

(MSAD.

B 4bRE%%:0013467 Aam:0 5 E: P
(¢ ) 14.What type navigation system is Inertial Navigation System (INS)? A navigation
computer which provides position
(A)from information by compass, airspeed, and an input of wind and variation
data. (B)from radar-type sensors that measure ground speed and drift angles.
(C)by signals from self-contained gyros and accelerometers.

B 4bRE%%:0013468 A0 5 E:



)

15. Where does the DME indicator have the greatest error between the ground distance
and displayed distance to the VORTAC?
(AM)High altitudes close to the VORTAC. (B)Low altitudes close to the VORTAC.
(C)Low altitudes far from the VORTAC.

JR 46 785%:0013469 Aa4:0 5 &+ (R20180823)

(B)

16. What DME indications should a pilot observe when directly over a VORTAC site
at 12,000 feet?
(A)0 DME (B)2 DME (C)2.3 DME

R i785%:0013470 Aa4a:1 5 &+ (R20130125)

(B )

17. (Refer to figure 9. ) Which RMI illustration indicates the aircraft to be flying
outbound on the magnetic bearing of 235 degree FROM the station? (Wind 050
degree at 20 knots. )(&w B A41_Fig9)

(D2 (B)3 (O)4

Fiit ke 125, —RMI [llustrations

R4 785%:0013471 Aa#:2 5 E:+  (R20130125)

(B )

18. (Refer to figure 9.) What is the magnetic bearing TO the station as indicated
by illustration 4?(4eEA41_Fig9)
(A)285 degree. (B)055 degree. (C)235 degree.



A4 B H :

Fit ki 125, —RMI [llustrations
B i6A85%:0013472 a4 :3 5 &+ (R20130125)
(A ) 19.(Reter to figure 9.) Which RMI I1lustration indicates the aircraft is southwest

of the station and proceeding TO the station?(4wEA41 Fig9)
(M1 (B2 (O3

Fiit ke 125.—RMI Illustrations
JRu6R85%:0013473 =844 5%+ (R20130125)

(B ) 20.(Refer to figure 9.) Which RMI illustration indicates the aircraft is located
on the 055 degree radial of the station and heading away from the station?(4w
BA41_Fig9)

(M1 (B2 (C)3



A4 B H :

Ficure 125, —RMI Illustrations.
B4 R85%:0013474 Rl # 5 E:F (R20130125)
(A ) 21 (Refer to figure 10 below. ) What is the lateral displacement of the aircraft

in nautical miles from the radial selected on the No. 1 NAV ?(ke@A41 Figl0)
(A)5.0 NM. (B)7.5 NM. (C)10.0 NM.

A4 B H °

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

Ficure 139.—No. | and No. 2 NAV Presentation
B4 Ra%% 0013475 A2 # 5 E:F (R20130125)
(¢ ) 22 (Refer to figure 10 below. ) On which radial is the aircraft as indicated by the

No. 1 NAV?(4wEA41_Figl0)
(AR-175. (B)R-165. (C)R-345.



A4 B H :

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

Figure 139.—No. | and No. 2 NAV Presentation
B4 A5%:0013476 =84:3 5 Z:+  (R20130125)
(B ) 23 (Refer to figure 10.) Which OBS selection on the No. 1 NAV would center the CDI

and change the ambiguity indication to a TO?(xe@BA41 Figl0)
(AM)175 (B)165 (C)345

A4 B H °

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

NAV

NAV - 2

Ficure 139.—No. | and No. 2 NAV Presentation
B4 Ra%% 0013477 Ram:4 # 5 E P (R20130125)
(¢ ) 24 (Refer to figure 10.) What is the lateral displacement in degrees from the

desired radial on the No. 2 NAV?(4EA41_Figl0)
(A)1 degree (B)2 degree (C)4 degree



A4 B H :

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

Figure 139.—No. | and No. 2 NAV Presentation
B4 A5%:0013478 =E4:b 5 E: ¥  (R20130125)
(A ) 25 (Refer to figure 10.) Which OBS selection on the No. 2 NAV would center the
CDI?(4o B A41_Figl0)
(A)174 (B)166 (C)335

A4 B H °

FREQ | N.M. |[KNOTS | MIN
115.0 (60.0 | 180 [20.0

NAV

NAV - 2

Figure 139.—No. | and No. 2 NAV Presentation
B4 550013479 =a4:6 5 Z:+  (R20130125)
(c ) 26. (Refer to figure 10.) Which OBS selection on the No. 2 NAV would center the CDI

and change the ambiguity indication to a TO?(4w B A41_Figl0)
(A)166 (B)346 (C)354



A4 B H :

[ FREQ | N.M. |KNOTS MIN1
115.0 [60.0 [ 180 [20.0]

Ficure 139.—No. | and No. 2 NAV Presentation
B 467E5%:0013480 =a4n:1 #5452+ (R20130125)
(A ) 27.(Refer to figure 12 below. ) You receive this ATC clearance: "---HOLD EAST OF

THE ABC VORTAC ON THE ZERO NINER ZERO RADIAL, LEFT TURNS..." What is the recommended
procedure to enter the holding pattern?(%eEA41_Figl2)
(M)Parallel only. (B)Direct only. (C)Teardrop only.

A4 B H

1;\\\‘\
i\

-
-
-

-—

—y
(5]

"II

Fioure 123.—Aircraflt Course and DME
Indicator.

JR46785%:0013481 Aa#:2 5 &+ (R20130125)

(B ) 28.(Refer to figure 12 above. ) You receive this ATC clearance: "---CLEARED TO THE
ABC VORTAC. HOLD SOUTH ON THE ONE EIGHT ZERO RADIAL..."  What is the recommended
procedure to enter the holding pattern?(4=EA4l Figl2)

(A)Teardrop only. (B)Direct only. (C)Parallel only.



A4 B H :

1;\\\‘\

-
-
-
-
-—

/l""Sl

Fiovre 123 —Aircralt Course and DME

Indicator.
B4 R8%%:0013482 #a4m:3 # 5 E:F (R20130125)

(¢ ) 29.(Refer to figure 12.) You receive this ATC clearance:
VORTAC. HOLD NORTH ON THE THREE SIX ZERO RADIAL, LEFT TURNS---"
recommended procedure to enter the holding pattern?(Zw EA41 Figl2)

(A)Parallel only. (B)Direct only. (C)Teardrop only.

"...CLEARED TO THE XYZ
What 1s the

72 B
,l
=4
&=
Froure 123, —Aircralt Course and DME
Indicator.
B4 R85 0013483 R4 # 5 E:F (R20130125)
"...CLEARED TO THE ABC

(B ) 30.(Refer to figure 12.) You receive this ATC clearance:
VORTAC. HOLD WEST ON THE TWO SEVEN ZERO RADIAL---" What is the recommended
procedure to enter the holding pattern?(4oEA41_Figl2)

(A)Parallel only. (B)Direct only. (C)Teardrop only.

10



A4 B H :

1;\\\‘\

-
-
-

-

-—

/l""Sl

Fiovre 123 —Aircralt Course and DME
Indicator.

R4 785%:0013484 Aa#a:1 5 &+ (R20130125)

(¢ ) 31 (Refer to figure 13 below. ) A pilot receives this ATC clearance: "---CLEARED
TO THE ABC VORTAC. HOLD WEST ON THE TWO SEVEN ZERO RADIAL---" What is the
recommended procedure to enter the holding pattern?(w EA41 Figld)
(A)Parallel or teardrop. (B)Parallel only. (C)Direct only.

Fioure 124, Aircrall Course and DME
Indicator

F6R85%:0013485 A2 # 5 &+ (R20130125)
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(¢ ) 32 (Refer to figure 13.) A pilot receives this ATC clearance: "---CLEARED TO THE
XYZ VORTAC. HOLD NORTH ON THE THREE SIX ZERO RADIAL, LEFT TURNS---"  What is
the recommended procedure to enter the holding paftern?(4oEA41_Figl3)
(M)Teardrop only. (B)Parallel only. (C)Direct.

A4 B H

Fioure 124 Aircrall Course and DME
Indicator

JR 46 78%5%:0013486 Aa#:3 &5 E:+ (R20130125)

(A ) 33 (Refer to figure 13.) A pilot receives this ATC clearance: "..CLEARED TO THE
ABC VORTAC. HOLD SOUTH ON THE ONE EIGHT ZERO RADIAL:---"  What is the
recommended procedure to enter the holding paftern?(Zw B A41 Figl3)
(M)Teardrop only. (B)Parallel only. (C)Direct only.

A4 B H °

Fioure 124 Aircrall Course and DME
Indicator

B dbRE%%:0013487 A0 5 E: P
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(A ) 34 The maximum speed a propeller-driven airplane may hold at is
(A)265 knots. (B)230 knots. (C)156 knots.

B 4bRE%%:0013488 A0 5 E:

(¢ ) 35 Maximum holding speed for a civil turbojet aircraft at a joint use airport
(civil/Navy) between 7,000 and 14, 000 feet is
(A)200 knots. (B)265 knots. (C)230 knots.

B 4bRE%%:0013489 A0 5 E:

(A ) 36.What is the maximum holding speed for a civil turbojet holding at a civil airport
at 15,000 ft MSL, unless a higher speed is required due to turbulence or icing,
and ATC is notified?

(A)265 knots. (B)230 knots. (C)250 knots.

B 4bRE%%:0013490 A0 5 E:

(¢ ) 371.Civil aircraft holding at an altitude of 14,000 feet at a military or joint
civil/military use airports should expect to operate at which holding pattern
airspeed?

(A)250 knots. (B)260 knots. (C)230 knots.

B 4bRE%%:001349]1 A0 55+

( A ) 38 When using a flight director system, what rate of turn or bank angle should a
pilot observe during turns in a holding pattern?
(A)3 degree per second or 25 degree bank, whichever is less. (B)3 degree per
second or 30 degree bank, whichever is less. (C)1-1/2 degree per second or 25
degree bank, whichever is less.

JR 46 725%:0013492 #a40:0 $ 5 H: F

(B ) 39.When entering a holding pattern above 14, 000 feet, the initial outbound leg
should not exceed
(A1 minute. (B)1-1/2 minutes. (C)1-1/2 minutes or 10 NM, whichever is less.

B 4bRE%%:0013493 A0 5 E:

(¢ ) 40.When holding at an NDB, at what point should the begin for the second leg
outbound?
(A)Abeam the holding fix or when the wings are level after completing the turn
to the outbound heading, whichever occurs first. (B)At the end of a 1 -minute
standard rate turn after station passage. (C)when Abeam the holding fix.

R it785%:0013494 ma4:1 5 &+ (R20130125)

(A ) 41. (Refer to figure 14.) The Cugar Four Arrival ends(&wEA41_Figl4)
(A)At BANTY INT. (B)At IAH VORTAC. (C)when cleared to land.

13
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GURE 112 VOR/ DME WY 2K (IAH) / Cugar Four Arrival (Cugar.Cugard).

FA6RE5%:0013495 a2 # 5+ (R20130125)

(¢ ) 42. (Refer to figure 14.) What action should the pilot take if communications were

lost during the Cougar Four Arrival, after turning on the 305 radial of IAH ?(4w
BA41_Figl4)
(A)Proceed direct to IAH VORTAC, then outbound on the [AH R-1 25 for a procedure
turn for final approach. (B)From BANTY INT, proceed to the IAF on the IAH R-290,
then continue on the IAH 1 0 DME Arc to final approach. (C)Proceed direct to
[AH VORTAG, then to either IAF on the IAH 1 0 DME Arc to final approach.

;BEE E . a3t pany POV CUGAR FOUR ARRIVAL [CUGAR CUGARA]
. s o cu *ARRIVAL (O0G]
B O ey,
AN o
o o

GURE 112 VOR/ DME WY 2K (IAH) / Cugar Four Arrival (Cugar.Cugard).

R 6R85%:0013496 Aa4:3 # 5 &+ (R20130125)

(c ) 43 (Refer to figure 14.) While arcing left on the IAH 10 DME Arc, the pilot
experiences a left crosswind component. Where should the bearing pointer be
referenced, relative to the 900 (wingtip) position to maintain the 1 0 DME
range? (4 B A41_Figld)

(A)on the left wingtip reference. (B)Behind the left wingtip reference. (C)Ahead
of the left wingtip reference.

14



il [CUGAR FOUR ARRIVAL (CUGAR. CUGARS)

(¢ ) 44.What functions are provided by ILS?
(A).Azimuth, distance, and vertical angle. (B).Azimuth, range and vertical
angle. (C).Guidance, range, and visual information.

B 4bRE%%:0013498 A0 5 E:

(B ) 45.Within what frequency range does the localizer transmitter of the ILS operate?
(A)108.10 to 118.1 0 MHz. (B)108.1 0 to 111.95 MHz. (C)108. 1 0 to 117.95 MHz.

JR 46 725%:0013499 =a40:0 $ 5 H: F

(¢ ) 46.Which component associated with the ILS is identified by the first two letters
of the localizer identification group?
(A)inner marker. (B)Middle corn ass locator. (C)Outer compass locator.

B 4b7E%%:0013500 Aa4m:0 5 E:

(A ) 47 If installed, what aural and visual indications should be observed over the ILS
back course marker?
(A)A series of two dot combinations and a white marker beacon light.
(B)Continuous dashes at the rate of one per second and a white marker beacon
light. (C)A series of two dash combinations and a white marker beacon light.

B 4b7E%%:0013501 AEa4m:0 5 E: F

(A ) 48 What aural and visual indications should be observed over an ILS inner marker?
(A)Continuous dots at the rate of six per second. (B)Continuous dashes at the
rate of two per second. (C)Alternate dots and dashes at the rate of two per
second.

i 785%:0013502 Ra4:1 g5 &+ (R20130125)
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(B ) 49. (Refer to figures 135 and 138 on page 320.) Which displacement from the

A4 B H °

localizer and glide slope at the 1.9 NM point is indicated?(4wEA41 _Figlh)
(A)T710 feet to the left of the localizer centerline and 140 feet below the glide
slope. (B)710 feet to the right of the localizer centerline and 140 feet above

the glide slope. (C)430 feet to the right of the localizer centerline and 28
feet above the glide slope.

FiGure 135.—OBS, ILS, and GS Figure 136.—OBS, ILS, and GS FicUre 137.—OBS, ILS, and GS
Displacement. Displacement. Displacement

2DOTS = 28"
1DOT =14

GLIDE SLOPE \

v (13007 1.
e (1.9 NM) (5.6 NM)

100" ALT 500" ALT. 1500" ALT

DOTS = 710"

DOT = 355
2DOTS = 430° \ 2D0TS=1550" —4
1DOT =z|5'\ Ulesi O £ j\

Ficure 138.—Glide Slope and Localizer [lustration.

B 46A8%5:0013503 #a4m:1 5 & .+ (R20130125)
(¢ ) 50.(Refer to table 136 and 138 on figure 15.) Which displacement from the localizer

centerline and glide slope at the 1, 300-foot point from the runway is
indicated?(4e B A41_Figlh)

(A)21 feet below the glide slope and approximately 320 feet to the right of the
runway centerline. (B)28 feet above the glide slope and approximately 250 feet
to the left of the runway centerline. (C)21 feet above the glide slope and
approximately 320 feet to the left of the runway centerline.

16
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Ficure 135.—O0BS, ILS, and GS Fioure 136.—OBS, ILS, and GS Ficure 137.—O0BS, ILS, and GS
Displacement. Displacement Displacement

2DOTS = 28"
1DOT =14

GLIDE SLOPE \

V4 {1300) 1
1000" |+ (1.9 M) (5.6 NM)

100" ALT 500" ALT. 1500" ALT

IzDors:?m'

DOT = 358 \
2DOTS = 430" \ 200TS=1550" —4
1D0T = 2|5'\ \ ey O

Ficure 138.—Glide Slope and Localizer [lustration.

B4 Ra%%:0013504 2E4:0 5 P

(B ) 51. When is the course deviation indicator (CDI) considered to have a full-scale
deflection?
(AM)When the CDI deflects from full-scale left to full-scale right, or vice versa.
(B)When the CDI deflects from the center of the scale to full-scale left or right.
(C)When the CDI deflects from half-scale left to halfscale right, or vice versa.

R utA85%:0013505 #848:0 $£ 5+

(B ) 52.What facilities may be substituted for an inoperative middle marker during a
Category I ILS approach?
(A). ASR and PAR. (B).The middle marker has no effect on straight-in minimums.
(C). Compass locator, PAR, and ASR.

B 48550013506 #84a:0 £ 5 F: P

( A ) 53.When simultaneous ILS approaches are in progress, which of the following should
approach control be advised of immediately?
(A). Any inoperative or malfunctioning aircraft receivers. (B). If a simul taneous
ILS approach is desired. (C).if radar monitoring is desired to confirm lateral
separation.

B 4bRE%%:0013507 A0 5 E: P

(¢ ) 54.When cleared to execute a published side-step maneuver, at what point is the
pilot expected to commence this maneuver?

(A). At the published DH. (B). At the MDA published or a circling approach. (C). As
soon as possible after the runway environment is in sight.

}ﬁ%%glu0013508 %QEO ;ﬁ%}g ‘:P
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(B ) 55 When cleared to execute a published sidestep maneuver for a specific approach
and landing on the parallel runway, at what point is the pilot expected to
commence this maneuver?

(A). At the published minimum altitude for a circling approach. (B).As soon as
possible after the runway or runway environment is in sight. (C).At the ImWizer
MDA minimums and when the runway is in sight.

B 4b7E%%:0013509 A0 5 E: F

(B ) 56.The lowest ILS Category II minimums are
(A). DH 50 feet and RVR 1, 200 feet. (B).DH 1 00 feet and RVR 1, 200 feet. (C).DH
150 feet and RVR 1,500 feet.

JR %6 72%%:0013510 #A40:0 ¥ 5 H: F

(¢ ) 57.What is the lowest Category IIIA minimum?
(A).DH 50 feet and RVR 1,200 feet. (B).RVR 1,000 feet. (C).RVR 700 feet,

B 4bRE%%:0013011 A0 5 E: F

(¢ ) 58 Inaddition to the localizer, glide slope, marker beacons, approach lighting,
and HIRL, which ground components are required to be operative for a Category
11 instrument approach to a DH below 150 feet AGL?
(A)RCLS and REIL. (B)Radar and RVR. (C)TDZL, RCLS, and RVR.

B 4bRE%%:0013012 Aa4m:0 5 E: F

(¢ ) 59.Which ground components are required to be operative for a Category 11 approach
in addition to LOC, glide slope, marker beacons, and approach lights?
(A).Radar and RVR. (B).RCLS and REIL. (C).HIRL, TDZL, RCLS, and RVR.

B 4bRE%%:0013013 Aa4m:0 5 E:

(A ) 60 Aircraft navigating by GPS are considered, on the flight plan, to be
(A).RNAV equipped (B).Astrotracker equipped (C).FMS / EFIS equipped

JR 46 72%%:0013514 #a40:0 $ 5 H: F

(¢ ) 61, The weather forecast requires an alternate for LUKACHUKAT (GPS RWY 25) ARIZONA.
The alternate airport must have an approved instrument approach procedure, which
1s anticipated to be operational and available at the estimated time of arrival,
other than
(A).GPS or VOR. (B).ILS or GPS. (C).GPS or Loran C.

B 4bRE%%:0013010 AE4m:0 5 E: F

(A ) 62.0verriding an automatically selected sensitivity during a GPS approach will
(A). cancel the approach mode annunciation. (B).require flying point-to-point
on the approach to comply with the published approach procedure. (C).have no
effect 1f the approach is flown manually.

JRutA85%:0013516 =848:0 $£ 5+
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(¢ ) 63 Authorization to conduct any GPS operation under IFR requires that
(A). the equipment be approved in accordance with TSO C-115a. (B). the pilot must
review appropriate weather, aircraft flight manual (AFM), and operation of the
particular receiver. (C).procedures must be established for use in the event
that the loss of RAIM capability is predicted to occur.

JRutA85%:0013517 =848:0 $£ 5

(B ) 64. GPS instrument approach operations, outside the United States, must be
authorized by
(A)the FAA-approved aircraft flight manual (AFM) or flight manual supplement.
(B)a sovereign country or governmental unit. (C)the FAA Administrator only.

B 4bRE%%:0013018 Aa4m:0 5 E: P

(c ) 65 If Receiver Autonomous Integrity Monitoring (RAIM) is not available when
setting up for GPS approach, the pilot should
(A).continue to the MAP and hold until the satellites are recaptured.
(B). proceed as cleared to the IAF and hold until satellite reception is
satisfactory. (C).select another type of approach using another type of
navigation aid.

B 4bRE%%:0013519 Aa4m:0 55+

(B ) 66.A GPS missed approach requires that the pilot take action to sequence the
receiver

(A).over the MAWP. (B).after the MAWP. (C). just prior to the MAWP.

B 4bRE%%:0013520 Aa4m:0 5 E: P

(¢ ) 67. If flying a published GPS departure,
(A)the data base will contain all of the transition or departures From all
runways. (B)and if RAIM is available, manual intervention by the pilot should
not be required. (C)the GPS receiver must be set to terminal course deviation
indicator sensitivity.

R utA85%:001352]1 #84:0 5 5

(¢ ) 68.The ADF is tuned to a nondirectional radiobeacon and the relative bearing change
from 270 to 265 in 2. 5 minutes of elapsed time. The time en route to that beacon

would be
(A)9min. (B)18min (C)30min.

R utA85%:0013522 840 5 : 5

(B ) 69.If a standard rate of turn is maintained, how long would it take to turn 3607
(A1 min (B)2 mins (C)3mins

Rt 785%:0013523 Ra4:0 5% : %5 (R20180823)
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(A ) 70.While cruising at 135 knots and on constant headin, the ADF needle decreases
from a relative bearing of 315 to 270 in 7 minutes. The approximate time and

distance to the station being used is
(A)7 minutes and 16 NM. (B)14 minutes and 28 NM. (C)19 minutes and 38 NM.

R utA85%:0013524 840 5 5

(A ) 71.What are the standard temperature and pressure values for sea level?
(A)15 ¢ and 29.92"Hg. (B)59 F and 1013.2" Hg. (C)15 C and 29. 92 Mb.

JR4672%%:0013520 Aa4:0 5 E: 5

(A ) 72.Which is true about homing when using ADF during crosswind conditions? Homing
(A)to a radio station results in a curved path that leads to the station. (B)is
a practical navigation method for flying both to and from a radio station. (C)to
aradio station requires that the ADF have an automatically or manually rotatable
azimuth.

B 467E5%:0013526 #a4m:2 #5245 (R20130125)
(A ) 73 (Refer to figure 17. ))which statement is true regarding illustration 2, if the
present heading is maintaind? The airplane will(¥wEA41 Figl7)
(A)cross the 180 radial at 45 angle outbound. (B)intercept 225 radial at a 45
angle. (C)intercept 360 radial at a 45 angle.

R4 785%:0013527 Aa4:3 55 (R20130125)

(B ) 74 (Refer to figure 17.)which illustration indicates the airplane will intercept
the 060 radial at a 75 angle inbound, if the present heading is maintained?(4w=
B A4l _FiglT)
(A4 (B)5 (C)6
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R 46785%:0013528 Aa4m:4 %

(A ) 7. (Refer to figure 172. )which illustration indicates the airplane should be turned
150 left to intercept the 360 radial at a 60 angle ?(koEA41 FiglT)

(M1 (B2 (C)3

B 5

Indicator (HSI),

(R20130125)
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FIGURE 17.—Horizontal Situation Indicator (HSI).

JR46785%:0013529 Aa4:5 5 5 (R20130125)

(¢ ) 76. (Refer to figure 17.) Which is ture regarding illustration 4 if the present
heading is maintained? The airplane will(4wEA41 Figl7)
(A)cross the 060 radial at a 15 angle. (B)intercept the 240 radial at a 30 angle.
(C)cross the 180 radial at a 75 angle.
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(B ) 77.How should the pilot make a VOR receiver check when the aircraft is located on
the designated check-point on the airport surface?
(A)Set the OBS on 180 plus or minus 4; the CDI should center with From indication.
(B)Set OBS on the designated radial. The CDI must center within plus or minus
4 of that radial with a FROM indication. (C)Whith the aircraft headed directly
toward the VOR and OBS set 000, the CDI should center within plus or minus 4
of that radial with a to indication.

JR4678%5%:0013531 Aa4:0 65 %5 (R20180823)

(A ) 78.While maintaining a magnetic heading of 270 and a true airspeed is 120 knots,
the 360 radial of VOR is crossed at 1237 and the 350 radial is crossed at 1244. The
approximate time and distance to this station are
(A)42 minutes and 84NM. (B)42 minutes and 91NM. (C)44 minutes and 96NM.

JRutA85%:0013532 840 £ 5 5

(A ) 79.A higher elevation airports the pilot should know that indicated airspeed
(A)will be unchanged, but groundspeed will be faster. (B)will be higher, but
groundspeed will be unchange. (C)should be increased to compensate for thinner
air.

B 4b7E%%:0013533 Aa4:0 5 E: 5

(¢ ) 80.What is an operational difference between the turn coordinator and the
turn-and-slip indicator? The turn coordinator
(A)is always electric; the turn-and slip indicator is always vacuum-driven.
(B)indicates bank angle only; the turn-and slip indicator indicates rate of turn
and coordination. (C)indicates roll rate, rate of turn, and coordination; the
turn-and-slip indicator indicates rate of turn and coordination.

F46R85%:0013534 A1 #5E: 5 (R20130125)
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(A ) 8l (refer to figure 24.) If the time flown between aircraft positions 2 and 3 is
15 minutes, what is the estimatesd time to the station?(keEA41_Fig24)
(A)15 minutes. (B)30 minutes. (C)60. minutes.

Bl T

B 4b7E%%:0013530 #E4:0 #5E: 5

(A ) 82 Which situation would result in reverse sening of a VOR receiver?
(AM)Flying a heading that is reciprocal to the bearing selected on the OBS.
(B)setting the OBS to a bearing that is 90 from the bearing on which the aircraft
is located. (C)Failing to change the OBS from the selected inbound course to
outbound course after passing the station.

4 785%:0013536 =a4:0 5% : 5 (R20201222)

(B ) 83 Pressure altitude = 12,000ft, True air temperature = +50 degree F. From the
conditions given, the approximate density altitude is
(A)11,900 feet. (B)14,130 feet. (C)18,150 feet.

JR 46 785%:0013537 Ra4:0 .5 : 5 (R20160719)

(A ) 84. If the relative bearing to a nondirectional radiobeacon is 045 and the magnetic
heading i1s 355, the magnetic bearing to that radiobeacon would be

(A)040 - (B)065 - (C)220 -

R a6 A85%:0013538 #84:0 5 H: 5

(B ) ¢8.Anaircraft ismaintaining a magnetic heading of 265 and the ADF shows a relative
bearing of 065, this indicates that aircraft is crossing the
(A)065 magnetic bearing FROM the radio beacon. (B)150 magnetic bearing FROM the
radio beacon. (C)330 magnetic bearing FROM the radio beacon.

JR 4t A85%:0013539 =84a:0 5 H: 5

(¢ ) 86.The ADF is tuned to radiobeacon. If the magnetic heading is 040 and the relative
bearing is 290, the magnetic bearing TO that radiobeacon would be
(A)150 - (B)285- (C)330 -
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